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Answer the following questions.

(1] Choose the statement from among 1 to 4 that is the most consistent in meaning

with the passage. The answer is: :

BEFANGELATVELEADT, BBV LEEA,

Adapted from Patrick St. Michel, Vinyl’s revival still strong

(The Japan Times Alpha, August 10, 2018)

Vinyl records are less personal than MP3 files.
Vinyl records are enjoyed because of their convenience.

Young people buy not only older records but also new ones.

=W o -

Recently, young people also buy MP3 files to hold in their hands.



(2] Choose the most grammatically appropriate word or phrase from among 1 to 4

in order to complete each sentence.

(1) T( @ ) in Berlin for the past few years, but my German is still quite poor.
The answer is: | 27 | .
1 live
2 am living
3 have been lived
4

have been living

(2) Isenthimanemail ( @ ) I was waiting for the train.
The answer is: [ ] )

1 until

2 while

3 during
4 despite



(3] Complete each sentence by arranging the words within each { } bracket.
Then choose the appropriate words to fill in the blanks indicated with numbers,
such as ( @ ) or ( @ ). Answer the most appropriate combination from
among 1 to 4. Note that there is an unnecessary word among the choices for

each of the sentences.

(1) When I was 12 years old, my ( ) (@ ) ( ) (@ ) ( ) ride
our bicycles.
{ sisters / are / to / used / and / 1}
The answer is: l ‘ .

1 @ and @ used
2 O are @ to

3 @ and @ are
4 O and @ to

(2) In May, 2016, Yukie finally ( @ ) ( ) ( ) ( @ ) ( ) to
Tokyo.
{ go / decision / made / the / of / to }
The answer is: [ ‘ .
1 ® made @ to

2 @ made @ of
3 ®go @ of
4 B go @ the



Choose the most semantically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

(1] A change by a speaker or writer from one language to another is called ( )
It can take place in a conversation when one speaker uses one language and the
other speaker answers in a different language. The answer is: | [31]

1 error analysis

2 language loss
3 code switching
4

guided interview

(2] ( ) are words which refer to a thing, quality, state, or action and which
have meaning when the words are used alone. They are mainly nouns, verbs,
adjectives, and adverbs. The answer is: M .

1 Morphemes

2 Content words
3 Function words
4

Formulaic language

(3] ( ) is used for practicing sounds or sentence patterns in a language, based
on guided repetition or practice. It is a technique commonly used in older methods

of language teaching, particularly the audiolingual method. The answer is: | |33
1 Drill

2 Monitoring
3 Articulation

4 Backchanneling

[4] A collection of naturally occurring samples of language which have been collected
and collated for easy access by researchers and materials developers who want to

know how words and other linguistic items are actually used is called a ( ).

The answer is: .

1 corpus

2 copula

3 curriculum
4

lexical category



Answer the following questions.

(1] Choose the underlined word from among (D to @ that is incorrect grammatically.

Answer from among 1 to 4. The answer is: ‘

BRFANBONTVEREADT, ARV :-LEEFA,

Adapted from Yudhijit Bhattacharjee,
Celebrating The Year of The Bird (NATIONAL GEOGRAPHIC, March 2018)

1 @ 2 ® 3 0 4 @



(2] Choose the underlined sentence from among (D to @ that is incorrect grammatically.
Answer from among 1 to 4. The answer is: :

BEFAAFLONTVEREANDT, BRLV:-LEEA.

Adapted from Janissa Delzo, Sweet and Low Frequency (NEWSWEEK, May 4, 2018)

1 @ 2 @ 3 ® 4 @



Read the following passage and answer the questions on page 18. Note that the four

sentences in the m in the passage are randomly arranged for Question [ 1 ].

BEHIFANELATVWERADT, BHLV-LEEA,



BEFANEOATVEREADT, BBV LERA,

Adapted from Gardiner Morse, One Company’s Experience with AR
(HARVARD BUSINESS REVIEW, November — December, 2017)



(1] There are four sentences in the wawgwj in the passage. Choose the most

appropriate sentence order from among 1 to 4. The answer is:

1" B - A - D —- C
2 B - D —= C — A
3 € A + B -+ D
4 € - B =+ A =+ [

(2] Choose the most appropriate sentence from among 1 to 4 in order to fill in the
blank ( (O ). The answer is: .
1 BEFANAFOLNTVLEREADNT, BBV :-LEEA,
2 AR can decide what to do and then do it automatically.
3 AR keeps working and all we need to do is just wait until the job is finished.
4

AR and workers have to work together to cooperate in working on a project.

(3] Choose the statement from among 1 to 4 that is the most consistent in meaning

with the passage. The answer is: .

1 One of the most difficult things is to use AR in remote locations because
communications are extremely difficult.

2 When using AR, it is easy to overlook damage done to the equipment, but we
don’t need to do anything even when something is wrong with the job.

3 Large crews are necessary when AR is used on huge ships because it is
difficult to watch over an entire vessel.

4 AR can be used for dangerous jobs, in remote locations, or in situations that

include extremely complex activities in working with products or machines.



Read the following passage and answer the questions on page 22-23.

BEFASELATVEEADT, BBV LEEA,



BEFANFEOATVELEADT, BEWVLEFEA,



BEHFANFEOATVEREADT, BBV ZLEEA,

Adapted from Zoltdn Démyei and Ema Ushioda,
Teaching and Researching Motivation (Routledge, 2010)



(1] What kind of value does this student have, according to Eccles and Wigfield’s

value typology ? The answer is: ;

I want to learn another language because it will be helpful in reaching
certain goals, such as getting a job, reading a foreign newspaper, or passing an

examination.

T BEFANBONTOLELADT, BRVZLEEA,
2 integrative value

3 BRHFANMELNATVERADT, BRV:LERA.
4 BEFANEOLNATLEREADT, BBV ELEEA,

[2] Choose one task from below which is suitable to fill in the blank ( A ). The
answer is: ;
1 BRHFANELOATVERADT, BBV LERA,
2 telling them that the goal is not important, but the process is.
3 setting a time limit for each activity.
4

offering high-level reading material which they cannot understand.

[3] A teacher has made one of the following statements to students. Choose one
statement from among 1 to 4 which would NOT generate students’ positive
attitudes. The answer is: ;

1 If you want to improve your reading skills, try to read as much as possible, but
you can stop reading if you feel it is boring and change to another book.

2 Each group will write one article for the school’s newspaper. Each group can
decide on the procedure by themselves: what to do, what to write, and how to do it.

3 Memorize all the 20 words in the handout in one week. You must write 10

words a day into your notebook.

4 If you are able to do this role play, you will be able to order a hamburger at a

restaurant in the US.



2

»{ 4 Dand{ 5 ) by choosing the most appropriate title from

among 1 to 9. The answer is: ;

1

[4] A title for each section is shown below from A to E. Fill in the blanks ¢

2 W¢ 3

€

ANBLNTVEEADT, BBV ELEEA,

fas

- B - - N

e .~ L i i - S i e S i 4
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o

1 BELEOFEZLZD, REZERLAZD, RSPESLERFELLD, B
FIWELEDTHIEREIODVWTOREZFIMNISBLIICT S,

2 LOOKICEHL., BEEYLR 2 EE2HAWTHORMZI AR EOL T 2EZ 2.
TF—YOEFICEH L THOED OFROKEERA D N2 EEED,

3 HECPREIGEATEDY ., BFEMICKRH - LWE LA E2RVED ., BOENR0HE
DESICEMEEEPCEFITERHLEL S ETHRELES.

4 FUFRICERB - WU EZIRVED, ZEHMNICEIBFTLTIDIVBDZKRD
THIVEBSBERADEE, FH LI E2EEPEBITEHLEIETH2RELES.

(f8 2) /PNEREBRIERAFED [FLFEOHEROAE] O [(BEI3FERVE4%2E] O
[BE] ITRENTVEHDELTHEYZBDIX, RD1~4DS550END, BREERS

X 45 .
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ISy ZORHEICIS C- ERN L HKEEZ &I, hEED 5.

2 WHh REREDEEZETCAHEEDHIC, BFE - Z2ICHEL, BRI TEHLTHE
#HEIHEEZET 5o

3 HCOEHPEELZAERICBIZRBRROFBEZ G, TOMRO DD ERED
EIRIHEEDIZ, BALIEEZMBEIEZISNEED

4 BEOEHEFIEATROMEA, EFVEFOHETHMEIGEGZ LAY, &
FR - RE|ICHBLAED L, BEMIICEH 2T 5BEZES.
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